
©u M2i0G1F8r IKiuYtVac ^StoLfTt[wwaUrSev FLMLNCi.b \ jAvlTlM CrBiTgzhHtRs[ BrOe\sMevrevRedda.] a nMHaGd^ec Swbiat_hU gITnAfCignrihtbep ZArlogYeWbsrZaY L2D.

Worksheet by Kuta Software LLC

Algebra 2

6.5A Function Operations

Name___________________________________

Date________________  Period____

©b V2S0M1g8G [KPuhteaq ISkoMfStjwiaNrqeg mLgLxCC.F K BAhlNlH qr_iWgxhHtRsF xrqeXsseyrsv\evdy.

Perform the indicated operation.

1)  g(t) = -4t
h(t) = 3t - 3
Find g(t) - h(t)

2)  g(x) = 4x - 1
h(x) = 2x + 3
Find g(x) + h(x)

3)  f (a) = 3a
g(a) = a3 + 3a2

Find f (a) × g(a)

4)  f (a) = -4a - 1
g(a) = a3 - 1
Find f (a) + g(a)

5)  g(t) = t3 + 2
f (t) = 2t - 5
Find g(t) ¸ f (t)

6)  g(a) = -3a + 5
h(a) = a2 - 5a
Find g(a) × h(a)

7)  g(t) = -3t3 + t
f (t) = 2t
Find (g - f )(t)

8)  g(n) = 2n3 - 4n
h(n) = 2n + 4
Find (g - h)(n)

9)  f (n) = -3n + 2
g(n) = n + 5
Find ( f  × g)(n)

10)  f (x) = 2x3 + 1
g(x) = 2x - 3
Find ( f  + g)(x)

11)  g(a) = 3a + 2
f (a) = -4a + 1

Find ( gf )(a)

12)  g(t) = 3t - 2
h(t) = -2t2 + 5
Find (g × h)(t)

13)  g(n) = 3n - 5
f (n) = 2n - 2
Find (g × f )(5)

14)  g(n) = 2n + 3
f (n) = n3 - 2
Find (g - f )(1)

15)  h(a) = 2a + 2
g(a) = 2a - 3

Find (hg)(-9)

16)  g(n) = 3n + 2
h(n) = -n3 + 5n
Find (g + h)(0)
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Perform the indicated operation.

1)  g(t) = -4t
h(t) = 3t - 3
Find g(t) - h(t)

-7t + 3

2)  g(x) = 4x - 1
h(x) = 2x + 3
Find g(x) + h(x)

6x + 2

3)  f (a) = 3a
g(a) = a3 + 3a2

Find f (a) × g(a)
3a4 + 9a3

4)  f (a) = -4a - 1
g(a) = a3 - 1
Find f (a) + g(a)
a3 - 4a - 2

5)  g(t) = t3 + 2
f (t) = 2t - 5
Find g(t) ¸ f (t)
t3 + 2

2t - 5

6)  g(a) = -3a + 5
h(a) = a2 - 5a
Find g(a) × h(a)

-3a3 + 20a2 - 25a

7)  g(t) = -3t3 + t
f (t) = 2t
Find (g - f )(t)

-3t3 - t

8)  g(n) = 2n3 - 4n
h(n) = 2n + 4
Find (g - h)(n)

2n3 - 6n - 4

9)  f (n) = -3n + 2
g(n) = n + 5
Find ( f  × g)(n)

-3n2 - 13n + 10

10)  f (x) = 2x3 + 1
g(x) = 2x - 3
Find ( f  + g)(x)
2x3 + 2x - 2

11)  g(a) = 3a + 2
f (a) = -4a + 1

Find ( gf )(a)

3a + 2

-4a + 1

12)  g(t) = 3t - 2
h(t) = -2t2 + 5
Find (g × h)(t)
-6t3 + 4t2 + 15t - 10

13)  g(n) = 3n - 5
f (n) = 2n - 2
Find (g × f )(5)
80

14)  g(n) = 2n + 3
f (n) = n3 - 2
Find (g - f )(1)
6

15)  h(a) = 2a + 2
g(a) = 2a - 3

Find (hg)(-9)

16

21

16)  g(n) = 3n + 2
h(n) = -n3 + 5n
Find (g + h)(0)
2


